SRR =R HEH : 98.04.16

g | EE(I)CHAPL Hifh | &= 3 |
Bl R ~ EAE - SRR =
ER8(58 10 43)

1-(B) FlimVn+2(Jn-1-vn+1)=? (A)(B)-1 (C)L (D)_% (E)} 7

[i#41] !ililx/n+2(x/n—1—\/n+1)=|imm.(*/”‘1‘\/””)(\/”‘1*\/“1)

J —1++/n+1
2
=limvn+2 -1
N \/ 1+\/n+

2+(D) F2n-5<3na, <(n+1’-n’ flima, =2 (A)2(B)-5 (C)T &7 (D)% (E)0

f247| - " 2n-5<3na, <2n+1
2n-5 2n+1
<a, <
3n 3n
2 . 2n-5 2n+1 g

Co—=1lim <lima, <lim
3 n—wo  3n n—w n—>o 30 3

... sinn@ 1 1
3:(C) FImMTE=2 (1 @1 (©0 ©); ©-
f217| 1 " [sinng| <1, .. lim smnn9:0
100
4+ (E) Stk Xlinjz%= 2 (A)100 (B)99 (C)98 (D)97 (E)~100
@l lim (x+1)1°°—1: lim (X+2)[(x+D)® = (x+D® + (x+1)¥ —---—1]
x>2 X42 x—>-2 X+2

= lim [(¢+2)* — (x+2)* 4 ~1]
= (=)® = ()% +---+(=1) = —100
5. (E) F%Iim(\/ZXZ+4x+3—ax—b):—3\/5 s fra+b=?

(A)0 (B)+2 (C)32 (D)4~/2 (E)5+/2
(2x% +4x+3) — (ax+b)?
D lim(W2x° +4x+3 - b) = li
|m( K raxrSmaxh) o V2Xx? +4x+3 + (ax+b)

_”m(z a’)x* + (4—2ab)x +(3—b?)
e 2%2 +4x+ 3+ (ax +b)

2-a°=0, .a=v2 (27 #)
=-3V2 = 14— 2ab:_3\/—

242

c.a=+2, b=4J2, s a+b=5\2
6 (A) j;“mﬂ

h—0 \/ﬁ

2 @0 @ ©-1 O, &

£1H



2 2 2 2
fE47| : Iimﬂz Iiml_(l_2h+h ): lim 2h-h = "m_(2h—h )‘/ﬁ
-0 h h—0 Jh -0 Jh h—0 h

= lim(2-h)vh =0

2
7-(E) Fa, beR: a>0» ¥ lim2 "= hX+30 g faz 2 (A)L(B)2(C)4 (D)5 (E)6
X—a X_a
fEa| 'Tﬁ’ax2+bx+3b=(x—a)(x—%):>a+%:_b
2
cim XKD inx-Py g, a2 g
x—a X—a x—a a
Eﬂfﬁazﬁﬁ‘}—4, a>0, ...a=6
2X—3, x<-1
—4, x=-1

8- (F) ()t (9= oq P H 2 (A fim £ = -4

X2 +4x-2, —-1l<x
x*+3x-1, x>1
(B)lim f(x)=-5 (C)lim f(x)=3 (D)lim f(x)=2 (E)lim f (x)=13
A Iim £ () =(-1)* +4(-D)-2=-5, lim f(x)=2-(-)-3=-5 .. lim f (x) =5
x—-1" x—1" X—>—
(©)lim f(x)=1+3-1=3, lim f(x)=1+4-2=3, " lim f(x)=3
x—1" x—1" X—>.
(E)lim f (x)=8+6-1=13
ax’+x—4a-2

9 (A) BEECTO) =1 xo2 70 (0T x =2 L fa = ?
-11, X=2

(A)-3 (B)-2 (C)0 (D)2 (E)3
2 — —_—
L T IimaX +X—4a 2:_11
X—2 X—2

— lim (x—2)(ax+2a+1) _
xX—2 X—2

-11, .".2a+2a+1=-11, .".a=-3

10~ (E) ﬁk@ng? AL B0 (©)-1 (D)-2 (E)}%T
1]- _ 1] _
e tim DX i 3 X teip » o fim DX i 22X
x—2" x_[x] x52" X —2 X2 x_[x x>2 X—1
1 _
i P

I

11+ (E) #f() =[x =3¢ » F £'0) =2 (A)-3 (BY(C3(D)-1 E)F 7%
24| -

£2H



‘X —3X‘ X—X2

lim = lim =3

x—0" X x—0" X . fy(o)j\—é}ﬁfi
: ‘Xz —3X‘ . x*—3x

lim = lim =-3

x—0" X x—0" X

=72 (A0 (B2 (©)4 (D)6

12+(D) % 19 = ¢ » o fimg HEEEV=1E)

(E)12

f(l+2h)-f()
h

] lim —2f'(1) =2-3=6

13~ (C)%f(x)_\/ax -1 F ') =2 ?a_‘?

(A)— (B)1 (C)2 (D)Z (E)4
Jax!-1-+a-1 . (ax* -1)—(a-1)
2470 (L _I =1
] T = x-1 le(x—l)(\/axz—1+\/a—1)
a(x+1) 2a

=lim = =2=a=2

Hl(\/ilh/_) 2Ja-1
14+ (E) % 1(2) =3, '2)=5+ i]lim f(2+3h)h 2=y e

A4 (BB  (©)12 (D)16  (E)20
#47] © lim f(2+3n)-f@-h) _,. f(2+3h)—f(@2-h)

h—0 4h
15~ (B) %a>0 3 PO, @) [ Aser it Pafuiell © x? =2y§%$ﬁ‘@| » L TH A, By
&g‘ IHA B 53 HI{ BT o=l » F =T TR ﬁl*’[ﬁ[ Hllad ffies i 2
J2
A7 ®5 ©F ©2E!

[3 4] : #A=-(2a,8) B=(~2a,a)

= 4.'(2) =20

2
- - -a > (c+2a)(x—2a) =
Som = f'(W2a)= lim —-4—— = lim =+/2a
1 ( ) X—+/2a X—\/% X—+/2a X—\/%
X2
m, = f \/7 = I|m —\/Z
(—2a)= ax+\/_
CLELER o CV2a(—v2a)=-1= 2a=1, .'.a=%

16 ~ (A) FrEe f(x)=x* +ax+b,g(x) = x*+cx+d > F ﬂﬂjﬁlf(2x+1) 4g(x) f'(x)=g'(x) =
47 45
f(5)=30-[lg(4) =7 (A)? (B)? (C)7 (D)? (5)7
]
f(2x+1) = (2x+1D)*+a2x+1) +b
=4x% +(4+2a)x+ (L+a+b)
49(x) = 4x* +4cx + 4d

4+2a=4c
l+a+b=4d

£3H



T H(X)=9¢'(X) > 2x+a=2x+c=>a=c¢c, .".a=2,¢c=2
v f(5):25+5a+b:30:>b=—5:>d:—%

1 47
..g(4) =16+4c+d =24 - =—=—
9(4) 5=
f'(x)-1

x-1

JX 13 0 i _ 2 ®! ©2 o3 el
17~ (C) @ f(x) =vx"+3 » 7 lim =7 A5 B3 O3 D)7 B)5

1 1
fad7 s f/(x)= %(x4 +3) 245 =2x3(x* +3) 2
1 1 3
= f"(x) =6x°(x*+3) 2 +2x°- (_E)(X4 +3) 2.4x°
—f'q) 1

e . f'fx)-1 . (%) , ,1 1.1 5
< f'D)=1= lim =[im =f")=6-27"4+2-(-2)(=)-4=3-—==—
@ e D & | x—1 x—-1 @ ( 2)(8) 2 2

18 » (B)l%f(x) fi— W= V2t 2 f0)=1, f()=2 f'0)=Ff@Q=0:Ff(2=7
(A)-24 (B)-12 (C)0 (D)12 (E)24
[ER '&J f(x)=ax®+bx*+cx+d - [l f'(x) = 3ax® + 2bx +c
d=1
b d=2
g T a2, b-3, c-0, d=1
3a+2b+c=0

S f(2)=12a+4b+c=-24+12=-12

— ~ EFRE(ERE 10 43)
P+2°+..4n°

1+ FIlim ; =
n—oo n
1
7= 1
L
(n(n+1))2
P+2%+-4n® 2 1
2470 | = lim ==
ﬁ*% n n* n—ow n* 4
. n*+1 -
2~ Zlim( —an+b) =2 - FErER(a, b) = °
[ noe nad
3] @3
2 _ 2 _
] o tim(2E ansb) = fim =N+ (B-a)n+b+L
oo N+1 N n+1
cS.1-a=0%b-a=2, ...a=1, b=3
3 2
3. r,%f(x):""" ;EXX”;*O' CE M () =2 2 lim £ () =3 (3, b, ¢, d) =

[ %]: 0 21 -10)

£ 4H



(x—2)(2x—;) 2X—2
A4 T a=0, b=2 + & f(X) = -
Aauippi X = - X

44
Lo lim £ (x) =3, .‘.72:3, c.d=-10, FEfFEc=1
v (@+1)x+b -
4 - || =4 > ¥ (a, b) = 5
S Bxil_Jxa3 FEE @ b=
g X L-2)
53] lim (a+Dx+b o [(@+DX+b](V3x+1+X+3)

\/3)(—+ \/F X—)l (3X+1) (X+3)
_lim [(@+1)x+b](v3x+1++/x+3)

x—1 2(x-1)

atl=2
'.'Iim(\/3x+1+\/x+3)=4:>{b+ , =asl, b=-2

=4

5- i = f(x) =ax® +bx* +cx+3 5 lim f(x) =4 > fa+b-c=

x—1 (X 1)

N

& ?5- 07
| El%@?‘él ax® +bx® +cx+3 = (x=1)*(ax+3)
S lim f(x)
X—1 (X—)
F“H[ Elrrﬁ b=1, ¢c=-5, .".a+b-c=7
> j\m%— 2 )
1 -12
i 87X (8-x)(#?+2%/§+4)_
xaB\/_ 2 x»s X—8
X—2

6~ “E',Ilm—:— » fa-b= o
-2 x> +ax+b 7 [

: F%x2+ax+b:(x—2)(x—%) = 2+g:—a

= xX*-x-2 . x+1 3
I|m = lim =—
w2xtax+h oz, b7

=4=a+3=4, ..a=1

g

S

-12

7~ lim(— o
x>2 X% — X — 2 2%? —5x+2

73] 5

£5H



1 1 1 1

21 HZ(xz—x—2 2x2—5x+2) Hz((x—2)(x+1) (x—2)(2x—1))
B X—2 _1
Y (x=2)(x+D(2x-1) 9
2
8 :g'l||ma—"x+3_b:2,yj%a_b:
x—1 X—-1
x| 4
LM £ F()=aVx’ +3-b » [ f())=2a-b=0=b=2a
. a\/x2+3 2a a(x*+3-4) a(x+1)(x-1) 2a
= lim——— = 1lim =lim =—=2
X1 x—-1 o (x-D(Vx*+3+2) o (x-D(x*+3+2) 4
.a=4, b=8
RS - f(x) o F(X) _f(x)
9~ f(x) B = &2 » I|m =1 lim——2—=2>}!
i (x) SRR Xx-D) D (x=1) EUX (1)
4 (0 = x(x-1)(ax~b)
Iimﬂ=1:>—b:1, S.b=-1
x>0 X(x—-1)
f(x) =2=a-b=2, ..a=1
-1 X(x—1)
dim — ) __ 3,14
-3 X(x-1)
10 ~ %&abCEZ "f(x) =x*+(2a-1)x’ +bX+Cfx?x]FJ*_k 1= MEF
(1)nml L) 2 @ (9 =0 1L SRR b0 = 7
X—>— X
'*@f( 1)_—1+2a 1-b+c=0=2a-b+c=2
.f(x)_x +(a-Dx* +bx+c =x*+(b-c+1)x* +bx+c
= (X+1)(x* +bx—cx+c)
2
- lim Fx) 1:>|im (x+1)(x +2bx—cx+c)=1
x>1x*+1 3 o1 (X+D)(XP—x+1) 3
: wzljbzgc
1+1+1 3
X2 +bx—ex+c=07F = x* +ox+c =07 AL
o.¢*—4c<0, 0<c<4, ..c=1792F53
: 3 ~
(=1 b=2=a=> (] #)
(iNFic=2 [ b=4=a=2
S ~
(iii)yF,c=3> [ b= 6:>a_5 (TF[)
. (ab,0)=(2,4,2)
11202 2 imee X g gime T o = 2

[ x->1 X% —3X+ 2 x>2 X2 —3X + 2

F A (0 = (x=D(x~2)(ax +b)
£6H

=7?



cim - g - atb=-1
x>l X°—3X+2

. f(x) —
lim —————=2, ".2a+b=2 ¥ a=3, b=-4
-2 X2 —3X+2 el

LX) = (x=D)(x-2)(3x—4)
12 ~ U AT
Jax—aix_,
y :

(1)a>0, Iirrg

(2)lim (x+a—+b+x*)=?

:(1)"m\/a—x—\/a+x=”m —2X _ -2 _ -1
x>0 X >0 x(Ja—x++/a+x) 24/a a

2 2 2 2 _
@lim(x+a-vbrx?) = lim X T2¥*ra —0+X) _jj,, 2axva b _2a_,

= (x+a)+vb+ X2 o= (x+a)+Vb+ x> 2
4x-5 x<1
13~ i f (x) = {3, x=1 #limf()=k - f]
ax+2, x>1

(1)( )a=? (A4 (B)-3 (©)0 (D)1 (B)2
(2)( ) k=? (A-5 (B)-3 (©)-1 (D)1 (E)3
[£%]: (1)) (2)(©
:(1)'.'Iximf(x):k (&7, .'.anljf(x):4—5=—l, 1Ln9f(x)=a+2’
J.a+2=-1, ..a=-3
(2) lim £ (x) = lim f (x) = lim f (x) = -1

X+ 2 wr
4 0=
— . 13
e
o x+2 3
f#47] - f’(l):Iim@:“m 2(x+2)-3v/3x* + x
T (S N
_lim —(23% +16) 39 13
SLo3x2 + x(2(x+2)+3V3x% +x)  2:2:12 16
15+ FIP (2, 0) By =X —x- 205 TR
5 %] 3x-y-6=0:(2,0)
X-x-2)-0

fE4rr m= f'(2) =lim

X—2 X —

TSR y—0:3(x—2):>3X—y—6=0,”%2, 0)

= Iirr;(x +1)=3>

16 - El%ﬁP(Z, —2) [ffhAsLy = X% = 3X + 4 [ BV IR R U £

: 3X+y=45524x-y=50

£7H



i34 %*J%HFM“PG t* -3t +4)

£(t) = lim t( —3x+4)- (t -3t+4)
X—t

S PV TR RS y — (-3t + 4) = (3t° - 3)(x 1)
IJ2,-2)f% " —2-t*+3t—4=(3t* -3)(2-1) #EHt =07 3
ST y — 4 = -3X 1Y y — 22 = 24(X - 3)

17+ & F () S ST ) f=a, '@ =b(a,beR) [l

xf@) - f(x2)

I|m(x +ix+1t*-3)=3t"-3

lim > (I'Ja,b%*=)

x—1 X=1
: 2a-2b

_ 2 2 _ _ AN
]« lim X O 0D _ i XEO=TO=C0D= T _ i 411 ) (e41) /)
x—1 Xx—=1 x—1 X—1 x—1
—2f(1)-2f'(1) = 2a-2b
By =Va, a>0 EPC . Sa) o A :

: 2x+y=§a

: Ly =Va-Vx, coy=f(x)=a+x-2ax
@rx-2da) -+ 328 SR adac S 2dax)

f'(2) =lim = lim

-3 (x—g)(x+5;‘+2&)

X*)g X —

a
9
25
X——a
= ||m—9 )

9 X+Sa+2\/—

SRR AR, y—ga——Z(x—g)

|2x—4
%f(x)zm LR £/(3) = .
[x|-2 —
% %[ 2
X(2x-4) _
-3 x—>3 Xx—3 8 (X—2)(x—3)
3X x<1
20~ T f(x) =4 s () =
T {2x3+1,x>1 FO=—
¥
3] 1) = lim f(X) f(l)
3
lim f(x)_f(l) —tim 28 im2pe 1 x+1) =6
x—>1" X— -1 X — X1t

£ 8 H



fim T F@ _ i 33 iy 6

x—1" X — -1~ X=1 x—1"
. f'(1) =6
X5, X<, e L
21~ T f(x) = ) T 0 sRa-b= o
[ ax+bhb, x>1
733
f(x) f(l)

4] £/) = lim
im f(x) f(1) i (8X+D)—(@+b)

T ool X—-1 x—1" Xx—=1
—_— 2_
im0 =@ i XL o )
X1~ X=1 x—»1m X=1

~a+b=1, ".b=-1=a-b=3
f(5+h)—f(5-h)

2+ <5100 5 £ 00 i 16) =3 ftim - S :
% %[ 6
4] lim f(5+h)—f(5—h):2”m f(5+h)—f(5—h):2f,(5) 6

h—0 h h—0 2h

: 1 _ : \
v F— SEE U FE e =18 = 1 ‘ R A o
23 = SIS PG T (1) 3t +2 0 EOI I R 3 PORER

(1t3+2)—(;-33+2)

% . w S 37, N f,) _ 3
ARV R £(3) = lim S
-3 t*43t+9 9+9+9
=lim =lim = =9
t—3 3(t_3) t—3 3 3
24 ~ P%V?E'Ia'”&l“ ty= x®—3x2—3x+1 &EII?&LLQF P %ﬁﬁlfinﬁﬁL%[}?ﬁ | EJ[JE'I,Q”&»L& P %’!ﬁlﬂ‘“’ﬁﬁﬂ

o ERR °
D Bx+y-2=0

[215] 0 y=f(x)=x*-3x*-3x+1= f'(x) = 3x*~6x-3=3(x-1)* -6
FWlﬁtmﬁﬁmw4fﬂm=w.wwﬁﬂtwb4an
SRy = /%2 _ Fqu\l;tr/ FI (53)tr,“’igﬁu J&CB%E o
2 —_
FE A Iim\/x ~16 -5 -16 \/x -3

X—5 x—>5
(\/x —-16 -3)(v'x* 16 +3) _lim (x—=5)(x+5)
i (x— 5)(\/x -16 +3) gk (x-5)(vx*-16 +3)
_lim X+5 ~5+5 5

5 [x_16+3 3+3 3

g R 8 y—3:§(x—5) , 4l] 5x—3y—16=0

26 ~ F%f(x) = (x=1)*(x+3)"(x=3)> » F, f'(x) = (x=1)(x+3)*(x—3)*(ax’ + bx +c)
£ 9H



flla—b+c=
f245) 0 f(X)=(x-1)°(x+3)*(x-3)°
f'(x) =2(x =1 (x+3)* (x=3)> +4(x+3)*(x=1)*(x—3)® +3(x =3)*(x—1)*(x +3)*
= (x=D(x+3)*(x=3)*[2(x +3)(x=3) + 4(x —1)(x = 3) + 3(x =D)(x + 3)]
= (x=1)(x+3)*(x—3)*(9x* —10x —15)
c.a=9, b=-10, c=-15

27 ~ T (X) = (2x=1)*(X* +4) » T} f'(x) =
E D 2(2x-1)%(x* +2)°(11x* —4x +6)
f247| 0 f(X)=(2x=D?*(x* +4)
= f'(x) = 2(2x-1)-2(x* +4) + (2x —1)* - 2x
=4(2x-1)(X* +4) + 2x(2x -1)*
=2(2x-1)(2x* +8+2x* —X)
=2(2x-1)(4x* —x+8)

%f(x)eR[] 'nmf(x) 35 /(1) =

e f(x) =3 (H7t)

'.x—]“(x):> f(1)=0

= tim T T
x—1 X=1 xelx 1
29 ~ SHIGET ©xy =3 FF- BP(3, 1) o g P R R A
(5 %] x+3y-6=0

] = f(0=2 = 10 =37, L F@) =1 » TR Gy 1= (x-9)
VX2 +X+2
= f(x )——+ T f)=__
_ -2x% -3x* —6x+1
- 20X+ x+2(X* +1)°
w4 f(x )_—"X+X+2
2+1
1 1
Lt (x2+1)-5(x2+x+2) 2.(2x+1) - X* + x+2-2x -3¢ x4l
(% +1) 202 +1)2 /X + x4+ 2
31~ sty = f(x) = X" —dx F AL (1,1) 2Nty = £ (0 AR
HITRASLL T A0 B
2 X+y-2=0

£ 108



%”@#ﬂ’!ﬁ(tt —4t) > () =xP—4x, L f(X)=3x*-4, .. f'(t)=3t"-4
B © y— (- 4t) = (3 —4)(x—t) » (1, 1) T EE t=-1>
L iy-3=—(x+1)
_X 2f(4)-41(x%)

T () BV BT PRl £(4) =1, /(4) =2 []lim o =
635 ~7
] tim CTAA100) L X T@)-41(@)-@41()-41 ()

x->2 X —4 X2 X —4

= f(4) 4&&% f(4) -4f'(4)=1-8=-
=5 £ (x) = X° —2X% +5x—1 - jltim%:_

P 14
f245) 0 F(X)=x*=2x" +5x-1= f'(X) = 3x* —4x+5= f"(x)=6x—-4

imT X =TC) _ ngy 14

x—3 X—3

34 Zf(x) = (2x° = x?+3)% 5 Zof (%), f'(-1) o

f'(x) =3(2x° = x* +3)*- (6x* — 2x) =6x(2x° —x* +3)*(3x-1)

f'(-1) =6+ (~1)(-2-1+3)? - (~-3-4) =—6-0-(-7) =0

35+ = f(x) = (X +3x)2(2x+1) > f'(x)= 2 f'(0) = ?

f(x) = (x*+3x)°(2x+1)

() = ((C +3%x)%) (2x +1) + (X +3x)° (2x +1)’
=2(x® +3x)(2x + D)(3x* +3) + 2(x* + 3x)*
= (x® +3x)(14x° + 6 +18x +6)

. £(0)=0

36> FLiy=x", T y=x"+2xF [0 00 QELVERIELA I ASROTHIE,

o VIR T TR AOSLE | ’ﬁ<tan9— ?

3

JZ*J“{ . =x>0,y>0 - #H(x,y)=(2.8)

y =X +2X
y=x=y'=3x" > [I[if (2,8) "I 1T 12
y=xt+2x =y =2x+2 - fl (28) “HGHHII6 0 tang= =D

1+12x6 73

Rl lFELy = X' —8x® + 24x? — 84X+ 25 7 X =3 HEfIUT B F Y o

: EI[.T%F [fa 3k

£1UERH



1 -8 +24 -34 +25 | 3

+3 -15 +27 21
1 -5 +9 —7 +4
+3 —6 +9

1 -2 +3 | +2

HET A, y =2(x—3) +4 0 J[]Jy=2x-2

38~ IRy =Xx*+ax+b =Ty y=—x3+c7‘i%ﬁ(1,—2) PR TR TR
(1) a+b+c= o (2) AR, o
5% (1) -4 (2)3x+y=1
izt (1) y=x"+ax+b = y'=2x+a
y=-x+c =y’ =-3x*

l+a+b=-2
(AREEEL: < -1+c=-2 f#iHc=-1, a=-5, b=2=a+b+c=-4
2+a=-3

(2) SR y + 2 = -3(x—1)

£ 127



